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Model Exam of third year prepratory Second Term 2023- 2024
Algebra Time: 2 hours
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Answer the following guestion:
First question: Choose the correct answer:

(D) x™xx"=..........
(a) x™ N (b) x™+n (c) x™—n (d) xn—m
(2)Ifa—b=7then:a—(3+b)=..........
(a) zero (b) 1 (c) 4 (d) 10
(3) If f: R—R, where f (X) = x? + 4 Then ,the set of zeroes of f(x) is...........
@ {2, -2} (b) {- 4} () {-2} (d) @

(4) If two straight lines represent equations of first degree in two variables are
parallel , then the number of solutions for the equations togetheris ...........

(a) zero (b) 1 (c) 2 (d)3
(5) If A and B are two mutually exclusive events in a sample space of a random

experiment ,thenP (ANB)=...........

(a) 1 (b) zero (c) 0.5 (d) @
(6) If (x —5) is a factor of: x> — 6 x + 5, then the other factoris ...........
@x-1 (b)x+1 (c)x-5 (dx+5

Second guestion:
(@) Find in R x R the solution set of the two equations: x +2y=5 ,3x+2y=7

(b) If A and B are two events in a sample space of a random experiment ,
P(A)=- ,P(B)==andP(ANB)== .

Find: (1) P (A U B) (2) P (A—B)
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Third guestion:

(@) Find in R x R the solution set of the two equations: x—-y =0, y :g

(Q)_Ifn(x): X+5 ) x+1

X2 +7x+10 X2 +3x+2

Find : (1) the domain of n (X)

(2) n (X) in the simplest form

Fourth guestion:

(a) Find in R the solution set of the equation x?> -4 x + 1 =0 by using the general
formula (taking V3 = 1.73).

(b) Find n (x) in the simplest form , showing the domain of n (x) where:

X+1 ><x2+3x—10
—x—-2 3x24+16x+5

n(x) =5

Fifth question:
(@) 1f N (X) = =5— | ny (%) =

%3 —x2 !

x3+x2+x
4 _

, then prove that: ny (X) = n2 (X).

X+ 3
x3 427 '

(b) If n (x) = then find n! (x) in the simplest form showing the domain of n-.

GOOD LUCK






